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South Pasadena » AP Chemistry

17 « Acid-Base Equilibria

1. ‘What is the [H'] when [OH] = §.1 x 107°7
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2. What is the [H'] when [OH] = 3.3 x 107
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3. What is the [H'] in a 0.0025 M HC1 solution?
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4. What is the [OH] in a 0.0050 M HC1 solution?
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5. A solution in which [H']= 107" hasa pH of B
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6. What is the pH of a 0,00030 M HNCy solution?
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7. What is the pH of a (L0060 b KOH solution?
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11. What is the pH of & 0.020 M solution of

PRACTICE TEST

. A samiple of lernon juice is found w have a pH

of 2.55. What is the H" concentration of the
juice? [l = 5 P = 5

a) 0.0035M d) 0.0080 M
(b)) 00028 M ¢) 355M
e 116M

. A sample of milk is found to have a pH of 6.60.

What iz the OH concentration of the milk?
a) 25w 100 M 4.ﬂxlﬁ'=M
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solution of HOC1? K, =31 x 10°%,
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12. What is the concentration of 04" ina 0.010 M

solution of carbonic acid? The relevant

equilbria ara,
¥ HCOsee H +HCOY  Kg=43x 107
e HOOy = H + 000 Eg=56x10"
_a) Ghx 107 M dy TAx10T M
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